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• ����� � �� !"#$%&�#'(%) *�+%'�, (%'!"-!"!%#! &!.(#! / 0�1�����	1	��2

��3 �1���	1
3 �����4��	5���67

• 889: � �� !"#$%&�#'(%) �(%);!  <$'$% &!'!#'$" / 0�1�����	1	����	1
3

	��	4	�	��
3 ������	� 1���5	=	 � ��4�������	=	 ������	�	167

• >?: � @(%!'(# (%&�#'+%#! &!'!#'$" 0������	� �� ����������	3 ���
���12

�	���67

• AB8 � '"+%�('($% !&)! �!%�$" 0������	�
 �� ���� �����	��67

• CBD � <$'E!;!#'"$% F$;$,!'!" 0�	�	5���������3 ����5��� �� G44����

G�����	��	=	 ���	=��1� 1 �1�����	1	����� �������67

• Δ � G���=��������� ���� �1�����	1	�����7

• kB � �	��	����� H	��I5���7

• � � �	��	����� J�����7

• n � �	�I�����I�� �	������3 ������7

• ρ � 
�����	� �	��	��1�����7

• R� � �	1����	���	� �	��	��1����� �	��	3 ������7

• D � �	G44�I���� ��44
���7

• l � ����� �1	�	��	=	 ��	��=�7

• N0 � ��	��	��� �	��	���3 �� 
�	1�� K��5�7
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• Tc � ���������	
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• jc � ��������� ������������ ���	�

• Te � ���������	
 ���������	
 ������	�
�	�

• Tph � ������	�
�	 ��������

• Tb � ������	�
�	 �������	�	�

• pF � ���
��� ������

• kF � �������� ������ ������

• vF � �������� ������

• εF � ������
 ������

• κ � ���	��	
 ���	����	
 ����	 ���	�����	��
�

• us � �������� ��
�	 � �	����	���

• λT � ����	 ����� ��������� �����	�

• ρm � ��������� �	����	�	�

• a � �����
��	
 ��������

• ce � ���������	
 �������������

• cph � ������	
 �������������

• τe−ph � ����
 ������������������ ��	����������
�
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 ��������������������� �	���
��
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������� �
������� �� 	���������� ������

• τL � ����� ��
������� 	�������� 	�������

• τS � ����� ��������� ����������� �� ��������

• τR � ����� ������������ ����������� � ��	�������� 	����

• τφ � ����� ��
������� ���� ��
����� ��������

• τ0 � ����� ��
������� �����	������������ �
���������

• p � 	�������
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��������� �������� �� � �� �� ���� � �����!� ������� �� ������� "���������
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�����#�� �������$ %���� ����� ������������� ���
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������&
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�����( �
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